4 M2 Antenna Systems, Inc.
Model No: LBKAM

ANTENNA SYSTEMS, INC. U n ive rsal L -B ra ce Kit

FEATURES:

Most directional circular and cross polarity antennas need to have the feed lines routed off the rear of the
antenna to minimize antenna interaction with the feed lines. This causes installers to droop the feed lines off the
rear of the antennas and back to the main cross boom, which can leave feed lines vulnerable for snagging or
hanging up on objects in the area. M2 Universal L-Brace kits provide a cable routing system on antenna arrays
when using only a single antenna mounted on a horizontal cross boom. L-brace kits not only provide a cable
routing system, but also provide some structural re-enforcement. Our universal “L” brace kit can be used with
our popular satellite antennas 2MCP 14, 2MCP22, 436CP30, 436CP42UG and all of our cross polarity EME type
antennas.

See our full line of antennas, stacking frames, “T” brace kits and “L” brace kits at www.m2inc.com.

M2 Antenna Systems, Inc. 4402 N. Selland Ave. Fresno, CA 93722

Tel: (559) 432-8873 Fax: (559) 432-3059 Web: www.m2inc.com
©2015 M2 Antenna Systems Incorporated 0';/e1v-">a116


http://www.m2inc.com/

ASSEMBLY MANUAL

] SS

30S
—ddd

—INO0dSS0OdD

JHVMAYVYH % 1709-N .1
JHVMAYVYH ® S1108-N .¢
W8/ X ub X W€
d1V1d IN14

ONI'ldNOD 30VHa-1

AN3 YNNILNY
N

/,

A4

Welb-l X 2€-8 'MIHOS

39S .0€ X 8500 X .l

2% ce8 LINADO 1# 38N L 30VHE-T

SS .P/L-L X 2€-8 ‘MIHIS L

2

8 X 8500 X.lb
N3ILX3 INOO4 A

"ONITdNOD 3DV g-1 ¥O0d
N3 INOO4 NO 303VdS HONON3 IAVH
1:.NOd 1VH1 SINOOY VNN3LNV d04
a3alddns ¥43adN31X3 INOOSH

-310N

340S .09 X 8G0°0 X .l
¢# 4dN1 30Vvda-1

SS '2¢-8 "'LNNMOO1
SS Wb/L-L X 2€-8 ‘MIYIS

«09 X'8G0°0 X .l
€# 3dN1 30Vvda-1



LBKAM PARTS & HARDWARE

DESCRIPTION ...t QTY
L-BRACE TUBE #1, 1”7 X 0.058 X 30", SBE .......cccceciiiiiiicieciecee 1
L-BRACE TUBE #2, 17 X 0.058 X 60", SOE........ccccoiiiiiiiiiiicieceee 1
L-BRACE TUBE #3, 17 X 0.058 X 60 ......ccueiiiiiiiiiciiieie e 1
L-BRACE BOOM END EXTENDER, 17 X 0.058 X 8”........ccccciiiiiiiiiiienne 1
T-BRACE COUPLING, (M2AMCO0300).......ccuieieeiiiiieiieciie e 2
BTM PLATE, 3" X 0.125” X 4” (M2APTO019) .....cceiiiiiiiiiiceeeee 1
HARDWARE:

BUTTON INSULATORS, 3/167.....eiiiiiiiiii e 2
KEEPER, 3/16” SS.... .o e 2
U-BOLT AND CRADLE, 2" ... ..o e 2
U-BOL T, 17 e 2
LOCKWASHER, 5/167, SS ... ..o 4
NUT, 5/16-18, SS ... 4
LOCKWASHER, 1/4”, SS ... 4
NUT, 1/4-20, SS ... 4
SCREW, 8-32 X 1-1/27, SS ... e 2
SCREW, 8-32 X 1-1/47, SS ... oo 6

LOCKNUT, 8-32, SS ...ttt 8



